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:
#include <stdio.h>
I Pt U s
int most_significant set bit(int num){
int binary[32];
int i;
// input error
if(num<O0)
return(-2);
/" }i‘“ﬁﬁl Il L0
for(1 ;1<32; i++)
binary[i]=0;
// }{ij’numﬁ,@j A& 7 [i%[binary
1=0;
while(num!=0){
binary[i]=num%:?2;
num/=2;
i+t

}

for(i=0; 1<32; i++)
printf("%d ", binary[i]);

printf("\n");

1 F5ENST- [ bit 1R el
for(i=31; i>=0; i--)
if(binary[i]==1)
return(i);
return(-1);

int main(void){
printf("most bit: %d\n", most_significant set bit(444));
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typedef struct node {
int d;
struct node *next;
}node;

:
#include <stdio.h>
typedef struct node{
int d;
struct node *next;
}node;
void printList(node *p){
while(p!=NULL){
printf("%d ", p->d);
p=p->next;
H
printf("\n");

}
void split(node *h, node **h1, node **h2){
node *taill=NULL, *tail2=NULL;
while(h!=NULL){
if((h->d)%2==0){
if(*h1==NULL){
*h1=h;
h=h->next;
taill=*h1;
taill->next=NULL;
telse{
taill->next=h;
h=h->next;
taill=tail1->next;
taill->next=NULL;
§
}else{
if(*h2==NULL){
*h2=h;
h=h->next;
tail2=*h2;
tail2->next=NULL;
telse{
tail2->next=h;
h=h->next;
tail2=tail2->next;
tail2->next=NULL;
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int main(void){
node *h=NULL, *h1=NULL, *h2=NULL;
node n3={3, NULL}, n4={4, NULL}, n5={5, NULL}, n7={7, NULL}, n8={8, NULL};
h=&n3; n3.next=&n4; n4.next=&n5; n5.next=&n7; n7.next=&ny,;
printList(h);
split(h, &h1, &h2);
printList(h1);
printList(h2);

FF BpataF B ostrv eniz ¥ o blde s BXstr="1 will pass this exam."* pat="pass"

IR R NS £ B - B 3Vint string search(char str[], char pat[]) - v i3
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#include <stdio.h>
#include <string.h>
int string_search(char str[], char pat[]){
int i,j,pLen,cLen;
pLen=strlen(str);
cLen=strlen(pat);
for(i=0; i<=pLen-cLen; i++){

for(j=0; j<cLen; j++){
if(str[i+j]!=pat[j]) break;
}

if(j==cLen) return(i);

}

return(-1);

}

int main(void){
char str[]="1 will pass this exam.";
char pat[]="pass";

printf("str: %s\n", str);
printf("pat: %s\n", pat);
printf("%d\n", string_search(str, pat));

}
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Query String Example
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url:\ wwwc. moex. gov. tw/1p. asp

keyl: | 1 |
key2: | 2 |
key3: |3 |

®(a)

<{Script Language=JavaScript>

function Location() {

var UrlStr;

UrlStr="http://"+document. LocationBody. url. value +
(D + (2) +
3 |+ (4) +
(5) 3 (6) 5

window. location. hrefz;

i/Script>

<Form Name=LocationBody>

<Input Type= Name= ><BR>
<Input Type: Name: ><BR>
<Input Type= Name= ><BR>
<Input Type= Name= ><BR>

<Input Type=| 20) ‘Value%

(21) JonClick{ (22) p

<Form>

</BODY></HTML>

ﬁi:
<html>
<body>
<script type="text/javascript">
function Location(){
var UrlStr;

®(b)

UrlStr="http://"+document.LocationBody.url.value+
"?key1="+document.LocationBody keyl.value+
"&key2="+document.LocationBody.key2.value+
"&key3="+document.LocationBody.key3.value

window.location.href=UrlStr;
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</Script>

<Form Name=LocationBody>

url:<Input Type="text' Name="url><BR>

keyl:<Input Type="text' Name='key1"™><BR>

key2:<Input Type="text' Name='key2"><BR>

key3:<Input Type="text' Name='key3"><BR>

<Input Type='button' Value="submit' onClick="Location()">
</Form>

</Body></Html>

-5

[&dt] &dbmBAEE—E 2 %8 8 42 - (02)2331-8268
| LEEREsE (6] A mEREEEKINE 231-3 58 112 - 04-22298699
www. get. com. tw/goldensun  [=if] SrEmHTEEAIL— 308 57 8 12 - 07-235-8996
(BEKK - =l - iF - EF - BF - i - 5/



